r4 1ol 2

MA 622 ~ Pastition Wc_w:( — lec. 9%

The amaiiect Fa-x-trs Pq«(#;{w‘@r\ Lo otton <SP‘I7CM>
— introduced bmj Gcmfgt Andrews in 200%

spten) = the numbes of amal |eg pa¥ts in
all f,:»cmf-ﬁ-r'b,“oms oft n.

Fg. Considex the 5 Pa'r-b-'ér'ow_% of 4,

@+@ = spt(4) = o

Andsews Showed -that—
ept(5NnN+4) =0 (mod 5)
Spb (Fnt5) = o (mod )
Spt (13n+6) =0 (mod 13)

keg Fc!cr\b-r‘-bj fov ?m\/inﬁ thege congrucnces fs:

5P-(>Cﬁ> = Npn) ~3r__ N, ¢n) .




Nlcf\) s —bhe second Atiin ~ Gasvan
Fan k ﬁﬂ@m;né defined 63

- -
Nlcfﬂ = § M !’\JCm7l’\) ,
M= ~ oo 50 .
J
More jcnexail«:{p f\)j(‘"ﬂ = z M~ N (m, ).
M = —eco

La;ber Of'\) Dﬁg on showoed

N pln) = D__I_MLCH;7

oherse MJ'U\)’: Z m’M(m,fﬂ

nM =~ —co
= aptcm) = rZ ( My - NQU’\]>

Since SP—&(r\')vol we hove_
MQ_CM > NN

The 3@9‘@-{7("’\:} Lunction Ffor s?-&Cl’\') :
co ’ oo e Sl 13 & /Fq}\,b/_'
Dspteenqt =) 2 ]
n=| n=1 (=907 @"59),,

b&CqLLSt‘,



Aumbhex- Uﬁ Hmneg thRe

A :j = { R R

sSmalesh /Eajvﬁi_

Hen ce 6/{;—{:-(0 - Z L (TT) )
TTh—>mn

Wheve W (M) = the numbey of ap pearsances
O‘rp the gmalle_g-b- Pa'\(-(_— o N1l

o
So 3 sptemql = j 7 (P~
"= R NSO
LS Do
“’"—r I,—q/

rDexf\/r'r\q Andrew s’ ident bty
We woirl prove it ueing 3¢”@’m{’“'17 ’p"f\cfn'on%




ay T =!I, -6%&\

=
Uslf\j this we can see -Hmdf’
Zs‘{;«fﬂ N (P n-~ Ii

= —[_ 4% <2-),\< %ﬁl)(\ i
209) . A2 05 T ooy

2= |
The 327_ trans formation of Watson is
3}'\/(_(\ j

SN AN 46753[@55 , d, e, ?:N, Cfr]
(%%,)N(%>f\) 7



Let g- 1, e=27 £ then let a={ and
Lhen (et b N — e This f(m/es)

[

O (920 g

N =—o ( 9/’){.\
= Z)(T79), o A NNt
— | + C~1) N




